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DQ-19080002040505  Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F. 2019) Examination
April - 2022
Statistics
(Adv. Business Statistics - 6)

(Operation Research)
(New Course)

Time : 2% Hours] [Total Marks : 70
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ENGLISH VERSION
Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.
1 Explain : Types of O.R., Limitations of O.R. 20
OR
1 Solve by graphical method : 20
Maximize the objective function Z=200x+300y by using
following constraints.
Sx+2y<180, 3x+3y<135, y<2x, x,y=20
2 What is L.P. ? State its assumptions and limitations. 20
OR
2  Using Simplex method solve the following L.P.P. 20

Maximize : Z=10x+5y

S.t.e. : 4x+5y<100, 5x+2y <80, x,y>0
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3 Explain : Saddle point, Strategy, Rules dominance in a 15

Game problem.

OR

3 Prepare a PERT diagram for the following project and 15
determine critical path and total time :

Activity : 1-2 | 2-3 |34 |35 |46 |56
Time (in hours) : 3 4 6 10 8 7
4 Prove that the economic order quantity 15
_ ’2><A><O
(EOQ) - CxP
OR
4 (a) Explain : EMV, EOL, EVPI.
(b) Find EVPI.
Event | Prob. Act
Al A2 A3
S 0.2 40 -10 -100
Sy 0.7 400 440 400
Ss 0.1 650 720 760
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